



Cyclic Contraction and Fixed-Point Theorem in b-Metric Space using Rational Inequalities

Raksha Dwivedi*

Research Scholar Department of Mathematic Sarvepalli Radhakrishnan University, Bhopal (M.P.), India

Dr. Richa Professor, Department of Mathematics Sarvepalli Radhakrishnan University, Bhopal, India

***Corresponding Author:** Raksha Dwivedi, Research Scholar Department of Mathematic Sarvepalli Radhakrishnan University, Bhopal (M.P.), India

Abstract: In this paper, we prove a fixed-point theorem for cyclic contraction using rational inequality in b-metric space.

Keywords: Cyclic Contraction, Cauchy Sequence, b-metric space, Fixed-point.

1. INTRODUCTION

In 1989, Backhtin [1] introduced the concept of b-metric space. In 1993, Czerwik [5] extended the results of b-metric spaces. Using this idea many researchers presented generalization of the renowned Banach fixed-point theorem in the b-metric space.

Definition 1.1:-

Let X be a non-empty set $k \geq 1$ be a given real number. A function $d: X \times X \rightarrow \mathbb{R}_+$ is called a b-metric provided that $\forall x, y, z \in X$

- 1) $d(x, y) = 0 \Leftrightarrow x = y$,
- 2) $d(x, y) = d(y, x)$,
- 3) $d(x, z) \leq k [d(x, y) + d(y, z)]$.

A pair (X, d) is called a b-metric space. It is clear that definition of b-metric space is an extension of usual metric space.

Example of b-metric space have given below:

Example (a) By Boriceanu [4], Let $X = \{0, 1, 2\}$ and $d(2, 0) = d(0, 2) = m \geq 2$,

$$d(0, 1) = d(1, 2) = d(1, 0) = d(2, 1) = 1$$

$$\text{and } d(0, 0) = d(1, 1) = d(2, 2) = 0$$

$$\text{then } d(x, y) \leq \frac{m}{2} [d(x, z) + d(z, y)] \quad \forall x, y, z \in X.$$

if $m > 2$ then the triangle inequality does not hold.

2. PRELIMINARIES

Definition 2.1 By Boriceanu [4], Let (X, d) be a b-metric space. Then a sequence $\{x_n\}$ in X is called a Cauchy sequence $\Leftrightarrow \forall \epsilon > 0 \exists n(\epsilon) \in \mathbb{N}$ such that for each $n, m \geq n(\epsilon)$ we have $d(x_n, x_m) < \epsilon$.

Definition 2.2 Let (X, d) be a b-metric space. Then a sequence $\{x_n\}$ in X is called convergent sequence $\Leftrightarrow \exists x \in X$ such that $\forall \epsilon > 0 \exists n(\epsilon) \in \mathbb{N}$ such that $\forall n \geq n(\epsilon)$ we have $d(x_n, x) < \epsilon$, in this case we write $\lim_{n \rightarrow \infty} x_n = x$.

Definition 2.3 Let (X, d) be a b-metric space is complete if every Cauchy sequence convergent.

In 2003, Kirk et al. [12] introduced Cyclic contractions in metric spaces and investigated the existence of proximity points and fixed-points in view of cyclic contraction mappings as follows.

Definition 2.4 Let X be a metric space and A and B are closed subsets of X . Then Function $S: A \cup B \rightarrow A \cup B$ is said to be a Cyclic map if $S(A) \subset B$ and $S(B) \subset A$.

$$\forall x \in X, n = 0, 1, 2 \dots \dots \infty, \text{ where } x \in A, S(x) \in B$$

$$S(Sx) = S^2x \in A \implies S^{2n} \in A$$

$$S(S^2x) = S^3x \in B \implies S^{2n-1} \in B$$

$\implies \{S^{2n}(x)\}$ is Sequence in A and $\{S^{2n-1}(x)\}$ is Sequence in B . S is called Cyclic mapping. Then any contraction is called Cyclic Contraction

3. MAIN RESULT

Theorem 3.1 Let (X, d) be a complete b-metric space and A and B are closed non – empty subsets of X . $S: A \cup B \rightarrow A \cup B$ be a contraction mapping satisfying the following contraction.

$$d(Sx, Sy) \leq \alpha \cdot \frac{d(Sx, x)[1 + d(Sy, y)]}{1 + d(x, y)} + \beta \cdot d(x, y)$$

$\forall x \in A, y \in B, \alpha, \beta > 0$ and $\alpha + \beta < 1$. Then S has a unique fixed – point in $A \cap B$.

Proof:- Let $x \in A, Sx \in B, S^2x \in A, S^3x \in B$ in general $S^{2n}x \in A, S^{2n-1}x \in B$ $\{S^n x\}$ is a sequence in X .

$$\begin{aligned} d(S^2x, Sx) &= d(S.(Sx), Sx) \\ &\leq \alpha \cdot \frac{d(S.Sx, Sx)[1 + d(Sx, x)]}{1 + d(Sx, x)} + \beta \cdot d(Sx, x) \end{aligned}$$

$$d(S^2x, Sx) \leq \alpha d(S.Sx, Sx) + \beta \cdot d(Sx, x)$$

$$d(S^2x, Sx)(1 - \alpha) \leq \beta \cdot d(Sx, x)$$

$$d(S^2x, Sx) \leq \frac{\beta}{(1 - \alpha)} \cdot d(Sx, x)$$

Where $h = \frac{\beta}{(1 - \alpha)} < 1$

$$d(S^2x, Sx) \leq h d(Sx, x)$$

Similarly,

$$d(S^3x, S^2x) \leq h^2 d(Sx, x)$$

$$d(S^{n+1}x, S^n x) \leq h^{n-1} d(Sx, x)$$

Let $m, n \in \mathbb{N}$ and $m > n$ using triangular inequality we have

$$d(S^m x, S^n x) \leq k^{m-n} d(S^m x, S^{m-1} x) + k^{m-n-1} d(S^{m-1} x, S^{m-2} x) + \dots \dots \dots + k d(S^{n+1} x, S^n x)$$

$$d(S^m x, S^n x) \leq (k^{m-n} h^{m-1} + k^{m-n-1} h^{m-2} + \dots \dots \dots + k h^n) d(Sx, x)$$

Further simplification minimizes to

$$d(S^m x, S^n x) \leq [(kh)^{m-n} \cdot h^{n-1} + (kh)^{m-n-1} \cdot h^{n-1} + \dots \dots \dots + kh \cdot h^{n-1}] d(Sx, x)$$

$$d(S^m x, S^n x) \leq [h^{n-1} + h^{n-1} + \dots \dots \dots + h^{n-1}] d(Sx, x)$$

$$= h^{n-1} (m - n + 1) d(Sx, x)$$

$$\leq h^{n-1} \delta d(Sx, x)$$

With $\delta > 0$ and as $n \rightarrow \infty$, $kh < 1$ we get $d(S^m x, S^n x) \rightarrow 0$

Therefore $\{S^n x\}$ is a Cauchy sequence in X

$\{S^n x\}$ converges to $u \in X$ as (X, d) is complete.

Sequence $\{S^n x\}$ is in A and Sequence $\{S^{n-1} x\}$ is in B in such a way that both converges to $u \in X$.

as A and B are closed subsets of X . Hence $u \in A \cap B$ and $A \cap B \neq \emptyset$

Now we prove $Su = u$

We have $d(S^n x, Su) = d(S.S^{n-1} x, Su)$

$$\leq \alpha \frac{d(S.S^{n-1} x, S^{n-1} x)[1 + d(Su, u)]}{1 + d(S^{n-1} x, u)} + \beta d(S^{n-1} x, u)$$

$$\leq \alpha \frac{d(S^n x, S^{n-1} x)[1 + d(Su, u)]}{1 + d(S^{n-1} x, u)} + \beta d(S^{n-1} x, u)$$

Taking $n \rightarrow \infty$

$$d(u, Su) \leq \alpha \frac{d(u, u)[1 + d(Su, u)]}{1 + d(u, u)} + \beta d(u, u)$$

$$d(u, Su) = 0 \implies Su = u$$

Now we establish uniqueness.

Let $v \in X$ be other fixed – point of S .

Then $Sv = v$

We have $d(u, v) = d(Su, Sv)$

$$\leq \alpha \frac{d(Su, u)[1 + d(Sv, v)]}{1 + d(u, v)} + \beta d(u, v)$$

$$\leq \alpha \frac{d(u, u)[1 + d(u, v)]}{1 + d(u, v)} + \beta d(u, v)$$

$$d(u, v)(1 - \beta) \leq 0$$

$$\because (1 - \beta) \neq 0$$

Hence $u = v$

This completes the prove of the Theorem.

Theorem 3.2 Let (X, d) be a complete b-metric space and A and B are closed non – empty subsets of X . $S: A \cup B \rightarrow A \cup B$ be a contraction mapping satisfying the following contraction.

$$d(Sx, Sy) \leq \alpha \frac{d(x, Sx) \cdot d(y, Sy)}{d(x, y)} + \beta \cdot d(x, y)$$

$\forall x \in A, y \in B, \alpha, \beta > 0$ and $\alpha + \beta < 1$. Then S has a unique fixed – point in $A \cap B$.

Proof:- Let $x \in A, Sx \in B, S^2 x \in A, S^3 x \in B$ in general $S^{2n} x \in A, S^{2n-1} x \in B$ $\{S^n x\}$ is a sequence in X .

$d(S^2 x, Sx) = d(S.(Sx), Sx)$

$$\leq \alpha \frac{d(Sx, S.Sx) \cdot d(x, Sx)}{d(Sx, x)} + \beta \cdot d(Sx, x)$$

$$d(S^2x, Sx) \leq \alpha d(S.Sx, Sx) + \beta . d(Sx, x)$$

$$d(S^2x, Sx)(1 - \alpha) \leq \beta . d(Sx, x)$$

$$d(S^2x, Sx) \leq \frac{\beta}{(1 - \alpha)} . d(Sx, x)$$

Where $h = \frac{\beta}{(1 - \alpha)} < 1$

$$d(S^2x, Sx) \leq h d(Sx, x)$$

Similarly,

$$d(S^3x, S^2x) \leq h^2 d(Sx, x)$$

$$d(S^{n+1}x, S^nx) \leq h^{n-1} d(Sx, x)$$

Let $m, n \in \mathbb{N}$ and $m > n$ using triangular inequality we have

$$d(S^mx, S^nx) \leq k^{m-n} d(S^mx, S^{m-1}x) + k^{m-n-1} d(S^{m-1}x, S^{m-2}x) + \dots + k d(S^{n+1}x, S^nx)$$

$$d(S^mx, S^nx) \leq (k^{m-n}h^{m-1} + k^{m-n-1}h^{m-2} + \dots + k h^n) d(Sx, x)$$

Further simplification minimizes to

$$d(S^mx, S^nx) \leq [(kh)^{m-n} . h^{n-1} + (kh)^{m-n-1} . h^{n-1} + \dots + kh . h^{n-1}] d(Sx, x)$$

$$d(S^mx, S^nx) \leq [h^{n-1} + h^{n-1} + \dots + h^{n-1}] d(Sx, x)$$

$$= h^{n-1} (m - n + 1) d(Sx, x)$$

$$\leq h^{n-1} \delta d(Sx, x)$$

With $\delta > 0$ and as $n \rightarrow \infty, kh < 1$ we get $d(S^mx, S^nx) \rightarrow 0$

Therefore $\{S^nx\}$ is a Cauchy sequence in X

$\{S^nx\}$ converges to $u \in X$ as (X, d) is complete.

Sequence $\{S^nx\}$ is in A and Sequence $\{S^{n-1}x\}$ is in B in such a way that both converges to $u \in X$.

as A and B are closed subsets of X . Hence $u \in A \cap B$ and $A \cap B \neq \emptyset$

Now we prove $Su = u$

$$\text{We have } d(S^nx, Su) = d(S.S^{n-1}x, Su)$$

$$\leq \alpha . \frac{d(S^{n-1}x, S.S^{n-1}x) . d(u, Su)}{d(S^{n-1}x, u)} + \beta d(S^{n-1}x, u)$$

$$\leq \alpha . \frac{d(S^{n-1}x, S^nx) . d(u, Su)}{1 + d(S^{n-1}x, u)} + \beta d(S^{n-1}x, u)$$

Taking $n \rightarrow \infty$

$$d(u, Su) \leq \alpha . \frac{d(u, u) . d(u, u)}{d(u, u)} + \beta d(u, u)$$

$$d(u, Su) = 0 \implies Su = u$$

Now we establish uniqueness.

Let $v \in X$ be other fixed – point of S .

$$\text{Then } Sv = v$$

$$\text{We have } d(u, v) = d(Su, Sv)$$

$$\leq \alpha . \frac{d(Su, u) . d(v, Sv)}{d(u, v)} + \beta d(u, v)$$

$$\leq \alpha . \frac{d(u, u) . d(v, v)}{d(u, v)} + \beta d(u, v)$$

$$d(u, v)(1 - \beta) \leq 0$$

$$\because (1 - \beta) \neq 0$$

Hence $u = v$

This completes the prove of the Theorem.

Theorem 3.3 Let (X, d) be a complete b-metric space and A and B are closed non – empty subsets of X . $S: A \cup B \rightarrow A \cup B$ be a contraction mapping satisfying the following contraction.

$$d(Sx, Sy) \leq \alpha \cdot \frac{\{d(x, Sx)\}^2}{d(Sx, x) + d(Sy, y)}$$

$\forall x \in A, y \in B, 0 < \alpha < 2$. Then S has a unique fixed – point in $A \cap B$.

Proof:- Let $x \in A, Sx \in B, S^2x \in A, S^3x \in B$ in general $S^{2n}x \in A, S^{2n-1}x \in B$ $\{S^n x\}$ is a sequence in X .

$$d(S^2x, Sx) = d(S.(Sx), Sx)$$

$$\leq \alpha \cdot \frac{\{d(Sx, S.Sx)\}^2}{d(S.Sx, Sx) + d(Sx, x)}$$

$$d(S^2x, Sx) \leq \alpha \cdot \frac{\{d(Sx, S^2x)\}^2}{d(S^2x, Sx) + d(Sx, x)}$$

$$d(S^2x, Sx) \leq \alpha \cdot \frac{d(S^2x, Sx) \cdot d(S^2x, Sx)}{d(S^2x, Sx) + d(Sx, x)}$$

$$\frac{1}{\alpha \cdot d(S^2x, Sx)} \leq \frac{1}{d(S^2x, Sx) + d(Sx, x)}$$

$$\alpha \cdot d(S^2x, Sx) \leq d(S^2x, Sx) + d(Sx, x)$$

$$d(S^2x, Sx)(\alpha - 1) \leq d(Sx, x)$$

$$d(S^2x, Sx) \leq \frac{1}{(\alpha - 1)} d(Sx, x)$$

Where $h = \frac{1}{(\alpha - 1)} < 2$

$$d(S^2x, Sx) \leq h d(Sx, x)$$

Similarly,

$$d(S^3x, S^2x) \leq h^2 d(Sx, x)$$

$$d(S^{n+1}x, S^n x) \leq h^{n-1} d(Sx, x)$$

Let $m, n \in \mathbb{N}$ and $m > n$ using triangular inequality we have

$$d(S^m x, S^n x) \leq k^{m-n} d(S^m x, S^{m-1} x) + k^{m-n-1} d(S^{m-1} x, S^{m-2} x) + \dots + k d(S^{n+1} x, S^n x)$$

$$d(S^m x, S^n x) \leq (k^{m-n} h^{m-1} + k^{m-n-1} h^{m-2} + \dots + k h^n) d(Sx, x)$$

Further simplification minimizes to

$$d(S^m x, S^n x) \leq [(kh)^{m-n} \cdot h^{n-1} + (kh)^{m-n-1} \cdot h^{n-1} + \dots + kh \cdot h^{n-1}] d(Sx, x)$$

$$d(S^m x, S^n x) \leq [h^{n-1} + h^{n-1} + \dots + h^{n-1}] d(Sx, x)$$

$$= h^{n-1} (m - n + 1) d(Sx, x)$$

$$\leq h^{n-1} \delta d(Sx, x)$$

With $\delta > 0$ and as $n \rightarrow \infty$, we get $d(S^m x, S^n x) \rightarrow 0$

Therefore $\{S^n x\}$ is a Cauchy sequence in X

$\{S^n x\}$ converges to $u \in X$ as (X, d) is complete.

Sequence $\{S^n x\}$ is in A and Sequence $\{S^{n-1} x\}$ is in B in such a way that both converges to $u \in X$.

as A and B are closed subsets of X . Hence $u \in A \cap B$ and $A \cap B \neq \emptyset$

Now we prove $Su = u$

$$d(S^n x, Su) = d(S. (S^{n-1} x), Su)$$

$$\leq \alpha \frac{\{d(S^{n-1} x, S. S^{n-1} x)\}^2}{d(S. S^{n-1} x, S^{n-1} x) + d(Su, u)}$$

$$d(S^n x, Su) \leq \alpha \frac{\{d(S^{n-1} x, S^n x)\}^2}{d(S^n x, S^{n-1} x) + d(Su, u)}$$

Taking $n \rightarrow \infty$

$$d(u, Su) \leq \alpha \frac{\{d(u, Su)\}^2}{d(u, Su) + d(u, u)}$$

$$\frac{1}{\alpha \cdot d(u, Su)} \leq \frac{1}{d(u, Su) + d(u, u)}$$

$$\alpha \cdot d(u, Su) \leq d(u, Su) + d(u, u)$$

$$d(Su, u)(\alpha - 1) \leq 0$$

$$\because (\alpha - 1) \neq 0$$

$$d(Su, u) = 0$$

$$Su = u$$

Now we establish uniqueness.

Let $v \in X$ be other fixed – point of S .

$$\text{Then } Sv = v$$

We have $d(u, v) = d(Su, Sv)$

$$\leq \alpha \frac{\{d(u, Su)\}^2}{d(Su, u) + d(v, Sv)}$$

$$d(u, v) \leq \alpha \frac{\{d(u, Su)\}^2}{d(Su, u) + d(v, Sv)}$$

$$\leq \alpha \frac{\{d(u, u)\}^2}{d(u, u) + d(v, v)}$$

$$d(u, v) \leq 0$$

$$\text{Or } u = v$$

This completes the prove of the Theorem.

Corollary:- Let (X, d) be a complete b-metric space and A and B are closed non – empty subsets of X . $S: A \cup B \rightarrow A \cup B$ be a contraction mapping satisfying the following contraction.

$$d(Sx, Sy) \leq \alpha \frac{\{d(x, Sx)\}^3}{d(Sx, Sy) \cdot [d(Sx, x) + d(y, Sy)]}$$

$\forall x \in A, y \in B, 0 < \alpha < 2$. Then S has a unique fixed – point in $A \cap B$.

ACKNOWLEDGEMENT

The author gratefully acknowledges the help of Dr. S.S. Pagey, Ret. Professor of Mathematics, Institute for Excellence in higher education Bhopal in preparing this paper.

REFERENCES

- [1] Bota M. Molnar, A. and Varga, C., On ekeland's variational principal in b-metric spaces, Fixed-point Theory 12 (2011), no. 2, 21-28.
- [2] Boriceanu, M., Fixed-point theory for multivalued generalized contraction on a set with two b-metric, studia, univ Babeş, Bolya: Math, Liv (3) (2009), 1-14.
- [3] Czerwik, S., Contraction mappings in b-metric spaces, Acta Mathematica et. Informatica Universitatis Ostraviensis 1 (1993), 5-11.
- [4] Czerwik, S., Non-linear set valued contraction mappings in b-metric spaces. Atti Sem math fiq Univ. Modena, 46(2), (1998), 263-276.
- [5] Kir, Mehmet, Kiziltune, Hukmi, on some well-known fixed-point theorems in B-metric space, Turkish journal of analysis and number theory, 2013, vol. 1, no. 1, 13-16.
- [6] Pacurar, M., Sequences of almost contractions and fixed-points in b-metric spaces, Analete Universitat de Vest, Timisoara, Seria Mathematical Informatica XLVIII (2010), no. 3, 125-137.
- [7] Kumari, PS Panthi, D: Cyclic Contractions and fixed-point theorems on various generating spaces. Fixed-point theory Appl. 2015 Article ID153 (2015).

Citation: Raksha Dwivedi, *Cyclic Contraction and Fixed-Point Theorem in b-Metric Space using Rational Inequalities*. *International Journal of Scientific and Innovative Mathematical Research (IJSIMR)*, vol. 12, no. 1, pp. 17-23, 2024. Available : DOI: <https://doi.org/10.20431/2347-3142.1201004>

Copyright:© 2024 Authors. This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.